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— ~ The income statement for the year ended December 31, 2003, for Computer Service
Company contains the following condensed information.
Computer Service Company
Income Statement

Revenues $6,583,000

Operating expenses (excluding depreciation) $4,920,000

Depreciation 880,000 5,800,000
Income before income taxes 783,000
Income tax expense 353,000
Net income $430,000

Included in operating expenses is a $24,000 loss resulting from the sale of Machinery
for $270,000 cash. Additional machinery was purchased for $750,000 cash.
The following balances are reported on Computer Service Company s comparative
balance sheets at December 31.
Computer Service Company
Comparative Balance Sheet (partial)

2003 2002
Cash $672,000 $130,000
Accounts receivable 775,000 610,000
Inventories 834,000 867,000
Accounts payable 521,000 501,000

Income tax expense of $353,000 represents the amount paid in 2003. Dividends declared
and paid in 2003 totaled $200,000.

Instructions (18%)
Prepare the statement of cash flows using the indirect method.

" ~ The Rocky Company received $2,626,134 on April 1,2003, for the issuance of $3
million of 8%, 10-year bounds dated April 1,2003. The bond were sold in a 10%
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market and pay interest every 6 months. Rocky Company uses the effective-interest
method of amortizing bond discounts.

Instructions (18%)

Prepare the general journal entries relating to the bond issue for 2003 and 2004.
Round your answers to the nearest whole dollar.
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~ Scott Company has the following inventory, purchases, and sales data for the month
of May.

Inventory:  May 1 200units @ $4.00 $ 800

Purchases: ~ May 10 500units @ $4.50 $2,250
May 20 400units @ $4.75  $1,900
May 30 300units @ $5.00 $1,500
May 15 500units
May 25 400units

The physical inventory count on May 31 shows 500 units on hand.
Instructions (24%)

(1) Under a periodic inventory system, determine the cost of inventory on hand at
May 31 and the cost of good sold for May under (a) first-in, first-out (FIFO)
method, (b) last-in, first-out (LIFO) method, and (c) average cost method.

(2) Under a perpetual inventory system, determine the cost of inventory on hand
at May 31 and the cost of good sold for May under (a) first-in, first-out (FIFO)
method, (b) last-in, first-out (LIFO) method, and (c) average cost method.



